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01PDC0, 0)=>D0; BY(DO, 0,5)=>Y1,
1702DY(DO, 0,85)=>Y2; PY(DO, 1,3)2Y3;
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f703D(Y1, 72)5D1; DOD(Y2, 72)=D2,

fT04BD(Y2, 18)=D3; BD(Y1, 18)> D4,

TO5MDX(DO; 9095 X0; BX(X0, -0.4)X1,

f106(BX(X0, -0.7)=>X2; ®BD(X1, Y1)=>D5,

T07TPBD (X2, Y3)=D6,

fT080Y1, D1, D2(0.1), Y2, D3(0,1), D4,

f709Y1, D5, D6(0.1), ~Y3, } X0,

110<-0,06(D0, D1); 53
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fT016BD(0, 0)=D0; PBX(D0, 0)=X,
f7026pY(DO, 9)=Y0, PD(Y0, 69)D1,
T93DY(D1, Y1, BD(YO, 111)=>D2,
f104PY (D2, 1)Y2, '
fT05P—-Y(8), Y1, Y(10),}X, «<0,06(D1, D1),
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706PY(8),~Y2,~Y(10), } X, <0.06(D2, D2),
F707&(0, 0, 25); BY(DO, 20)=Y3;
T08PX(0, 0, 0)=X1; PX(X1, 1)=>X24
fT09PD(X2, Y3)=>D3; DX(-18, 0, 90)=>X35+"
710X (X3, X2)=D4; PD(-25, 0)=»D5,
T11P—Y3, D3, D4, +X, %2—=D0), -
f712+-0,06(Ds, D3); - . 5
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7016BD(59, 42)>

DO; «PX(DY, 10)=pX1,

1702DD(35, 85)=D3; BX(D2, 90)=>X2,

fT03DD(77, 85)=>D4; BX(X2, -49)=X3,
T04BD(X1, X2)=D2; GD(X1, X3)=3D5,
f705BX(0, 0, 90)=>X4,

706X (120, 0, 90)=>X5,



1707BD(X4, X1)=D1; OD(X5, X1)=>D6;
f708D(0, 10)=>D10, PD(10, 0)=>DY,
F709PD (110, 0)=>D3;
FF10BD(120, 10)>DT7,
f711@D1, D2(8), D3(10), D4(10), D5(8),
fT12D6, D7, D8, D9, D10, <0,06 (D1, D1);
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T01PD(0, 0)=D0; PD(-3.9, 1)=3D1,
702DY(DO, 0,8)=>Y0,
f703PY(D1, Y, --Y0, 16)>Y1,
T04PBX(D1, 135)=X1,
F05PX(-6.8, 0, 90)=>X2,
F706D(X1, X2)=>D2, )
fT07¢BD(-6,8, 8)=>D3; PBD(1, 8)=>D4;
08B X(1, 0, 90)=X3,
fT09PX(—=Y0, 80)=>X4; PD(X4, X3)=Ds5;
fT10®&D1, Y1, --Y0, D5, D4, D3, D2;
ﬁu«—o;bg(m Dl);
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nOIEBD(O, 0)=D0; EBDeb 30)D5,
T02BY (DO, 25)Y1,. BY(DO, 23)=Y2;
n03€BD(Y1 90)=>D1; BX(-1, 0, 90)=>X1;
T04BD(—~X1, Y1)=D2, ®D(Y2, 105) = D3,
f705@D1, D2, D3, %24(—D0),
f706<-0,06(D5, D1), 52
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101PBD 0, 0)=>D0; DYDY, 2):>Y1,
1702BY(DO, 3)Y2,
f703DD(Y1, 45)=>D1;, DD(Y2, 0)=>D2;
704pY (D1, 0.5)=>Y3; PY(D2, 0.5)=>Y4,



fT05PY(DO, 1.5)=>Y5; BY(DO, 5,8)=Y6;
T06PY (DO, 2.5)YT, i
TOTPXDI, -60)=X1; BX(X1, 0,53)=3X2y
F708PD(—~X2, Y5)=2D3; PD(—X2, Y6)=>D4,
F09BX(DO, 90)=>X3, BD, -7)=>D5, |
fr109--Y6, D4, D3(0,5), —Y5,
iT11Y3, Y7, —Y4, —~-Y(3.5), } X3,
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701BD(0, 0)2D0, BX(DI, 03X,

T02@Y (DO, 2,15)=Yuy; XD, 15)=X1,

fT03PPY(DO, 15, 1,45)=D1;

fT04@Y (D1, 1)Y2, BD(YO0, Y2)=3D2;

f105PD(=Y0, Y2)=3D3,

fro6dD2, Y2, D3, YO,

fT07<—-0.06(D2, D2), P

§708<0.06¢(D0, DO0); Ul

709PY(DO, 5.48)=>Y3; PY(DO, 9.6)=>Y4,

f710DY (DO, 10,85)Y6; BX(X, 0.25)=>X2,

TLBXXL, -0,5)=2X3; OD(—~X3, Y3) 3Dy,

f112pD(~X3, Y4)=D7; OD(—~X2, Y6) =Ds;

fT13DPY(DS, 180, 0.5)3D6s .

UGS, 0)=>D9; AN
fT159Y6, DS, D6,D7(1), D4co, 5), Y354 X,

ﬁm*m(m), «<-0,06(D9, D8), LIk ShEE

f117<0,06(D0, D), . U]
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fT01BD(0, 0)=>D0; DY(DO, 6,25)=Y0,
f1025Y(DO, 7,1)=>Y1; ©Y(Do, 8,7)=2Y2,
7039Y(DO, 15,5)=Y3; ©X(D0, 90)=>X0,"
104X (Do, X0, 22,5)=X1; R
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F05DX(DO, X0, 18)=X2,
706 DX(XO0, 0,5)=>X3, PX(X2, -0,5)D>X4, "
FTO7TDX(X0, 1,75)>X5; BD(—X1, Y2)=D3;
708DD(—~X1, Y0)=>D4, ®D(-X4, Y0)=>D5;
f709DD(—=X4, Y1)=>D6; OD(~X3, Y1)=>D7;
“f710DD(—~X3, Y0)=>Ds;
F1HPX(D3, X0, 120)=>X6;
712 D(X6, X5)=D2; GD(—=X5, Y3) D1,
. f713®Y3, D1(0,2), D2¢0,2), D3, D4, Y0, D5,
. §714D6, ¥1, D7, D8, Y0, $X0, #&D0), -

" F15<-0,06(D1, D1), Y
f716<0.06(D0, D0); MR
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701DD(8,35, 4,5)=>D1; §PY(D1,90, 1)=>D2y
F702PPY(D2, 0, 0.14)=D3, )
fT03BPY(D3, -90, 1)=D4;
f704DD(35, 4,5)=>D5; OD(35, 0)=>D6y
fT050D(42, 0)=D7; DD(42,8)=3D8;
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fT06BD(0, 8)=>D9; HBD(0, 0)=>DO;

f1076dD(7, 0)=>D11; AD(7, 4,5)=D12;

£708@D1, D2, D3, . D4, %19(0, 1.,4), D5,

f709p6, D7, D8, D9, Do, D11, D12, . "

#710<-0,06¢(D1, D1), ‘
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By
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f701PY(0.15, 0,15, 0,15)=>Y0,
F7026PY(0.4,11,9,0, 1)Y1; DX(7,0, 90)=>X0,
F703® ~Y0, Y1, #8(0, 0,5), % X0,
f704PY (14,1, 11,9, 0,1)>Y2,
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fro5PY (14,35, 0,15, 0,15)=>Y3,
fT06BPY(Y2, 6, 0.5)=Y4,
FFOTBPY(Y3, 0, 0,5)=Y5,

708D PY(Y4, 0, 0,576,
fT09BPY(Y5, 0, 0.5)=YT,
ﬁlO@PY(Yﬁ, 0, 0.5)=>Y8,
FLIBHPY(YT, 0, 0,5)Y9,
FT12(BPY(Y8, 0, 0.5)=>Y10,
FT13PD(20, 12)=D13,
714@PY(D13, 9%, 9)=D14,
fT15BPY(D14, 180, 20)=D1s,
T160Y2, ~Y3, Y4, —~Y5, Y6, —Y7,
fT17Y8, —Y9, Yo, D13, D14, Dla,
f18<-0, 06(D15, Di5), Coendl
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f101pD(0, 3)=D1; GPY(D1, 13, 1.8)=Dy,
7020X(D2,117)=3X1; GPY(D2,13, 2.3) 5D3,
T03DX(D3, 61)=>X2; PD(21,8, 10)=3D4,
T04PY(—~X1, —Y1, X2, 0.7)Y1;
705BX(0, 0, 0)=X,
1706@#D1(0,05), D2, —Y1, %5(13, 4.1),
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i707D4, D5, 4 X, < -0,06(D1, D1),
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FEFF
HO012
701pC0, 0)=>D1; PD(0, 4,5)=2D2,
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fT02PD (3,5, 4.5)=>D3; PD(3,5, 2,5)=>D4;

7036D14,1, 2,5)=>D5; ©&D(16.5,
704BD(16,5, 4,.5)>D7;
fT05PD(17, 4.5)=>D38;

T06BY (13, 4.5, )Y,

707D X(Y1, 240)=2X1,

4)=>Dby



